
SAP ABAP table ROIISOCK {SOC: Storage object characteristic segment header - trnsf.st}

ROIISOCK

MANDT [CLNT (3)]

SOCNR [CHAR (20)]

OBJNR [CHAR (22)]

SOCAM [CHAR (2)]

SOCKL [CHAR (10)]

SOCTYP [CHAR (10)]

EQUNR [CHAR (18)]

TPLNR [CHAR (30)]

HERLD [CHAR (3)]

VOLUN [UNIT (3)]

MASUN [UNIT (3)]

LENUN [UNIT (3)]

FRTUN [UNIT (3)]

TIMUN [UNIT (3)]

TMPUN [UNIT (3)]

DNSUN [UNIT (3)]

SPVUN [UNIT (3)]

GXREA [CHAR (4)]

ST_GAUGE_RT [CHAR (12)]

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 ROIISOCK-EQUNR = EQUI-EQUNR 

0..N

0..N

IFLOT

MANDT [CLNT (3)]

TPLNR [CHAR (30)]

 ROIISOCK-TPLNR = IFLOT-TPLNR 

0..N

0..N

OIILGXR

MANDT [CLNT (3)]

GXREA [CHAR (4)]

 ROIISOCK-GXREA = OIILGXR-GXREA 

0..N

0..N

OIISOCAM

SOCAM [CHAR (2)]

 ROIISOCK-SOCAM = OIISOCAM-SOCAM 

0..N

0..N

OIISOCK

MANDT [CLNT (3)]

SOCNR [CHAR (20)]

 ROIISOCK-SOCNR = OIISOCK-SOCNR 

0..N

0..N

OIISOCKL

MANDT [CLNT (3)]

SOCKL [CHAR (10)]

 ROIISOCK-SOCKL = OIISOCKL-SOCKL 
0..N

0..N

OIISOCTYP

MANDT [CLNT (3)]

SOCTYP [CHAR (10)]

 ROIISOCK-SOCTYP = OIISOCTYP-SOCTYP 
0..N

0..N ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 ROIISOCK-OBJNR = ONR00-OBJNR 

1
1

T000

MANDT [CLNT (3)]

 ROIISOCK-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ROIISOCK-HERLD = T005-LAND1 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIISOCK-DNSUN = T006-MSEHI 

0..N

0..N

 ROIISOCK-FRTUN = T006-MSEHI 

0..N

0..N

 ROIISOCK-LENUN = T006-MSEHI 

0..N

1

 ROIISOCK-MASUN = T006-MSEHI 

0..N

1

 ROIISOCK-SPVUN = T006-MSEHI 
0..N

0..N

 ROIISOCK-TIMUN = T006-MSEHI 0..N

0..N

 ROIISOCK-TMPUN = T006-MSEHI 

0..N

0..N

 ROIISOCK-VOLUN = T006-MSEHI 

0..N

1

TOIJ_ST_GAUGE_RT

STOP_GAUGE_RT [CHAR (12)]

 ROIISOCK-ST_GAUGE_RT = TOIJ_ST_GAUGE_RT-STOP_GAUGE_RT 

0..N

0..N


